[MaTH 331 MISSION 8 |

Copying answers and steps is strictly forbidden. Evidence of copying results in zero for copied and
copier. Working together is encouraged, share ideas not calculations. Explain your steps. This sheet
must be printed and attached to your assignment as a cover sheet. The calculations and answers should
be written neatly on one-side of paper which is attached and neatly stapled in the upper left corner.
Box your answers where appropriate. Please do not fold. Thanks!

Problem 85 Your signature below indicates you have:

(a.) I have read Sections 5.7 — 6.4 of Gamelin:
(b.) I have read Cook’s Guide to Sections 5.7 — 6.4 of Gamelin:

Problem 86 §VI.1 # 1 (page 170) (find Laurent expansions)

Problem 87 §V 1.2 # la,1d,1h,1i (page 176) (classify singularities)

Problem 88 §VI.2 # 2a,2d (page 176) (find expansions and detail their r.o.c.)
Problem 89 §VI.2 # 8 (page 177) (algebra of order function for meromorphic functions.)
Problem 90 §V 1.4 # la,1d,2b (page 181) (partial fractions)

Problem 91 §VII.1 # 1a,lec,1g,1h (page 198) (residue)

Problem 92 §VII.1 # 3a,3b,3d (page 198) (residue)

Problem 93 §VII.2 # 2 (page 202) (integral)

Problem 94 §VII.2 # 10 (page 1% (integral)

Problem 95 §VII.3 # 1 (page 205) (integral)

Problem 96 §VII.4 # 5 (page 208) (integral)
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